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1) 25+10 =
2) 0.09 +10 =
3) 8.6 +100 =
4 2+100 -
5 12+ 100 =
6) 188 +100 =
7)  1+1,000 =
8) 3+ 1,000 =
9) 114 + 1,000 =
10) 396 + 1,000 =
NS




7

oA a a
VAPRERSE ALY LLaZN1IUIN N13aU N19AM NITHITNAUBY **** N.lo.oc/N.ox
N

O duduavuanssuauly [j

- N ——
1) 9+ 10 - 2) 468 + 10 .
09 + 10 - 468 + 100 -
0.09 + 10 : | . -
5 L 468+ 1000 y
- N N
3) 923 + - 923 || 10 = 67
923 + - 9.23 £100 = 6.7
923 + - 0.923 £1000 = 6.7
N AN y
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5) 0.2+ 10 -
2+ 100 =
22 + 1,000 -
N y
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1) 487 - - as7
2) 8321 - 8321
3 39 . - 39
= 99

a) [j ~ 1000

5) D . 100 = 021




